T N
15" /l‘\) 154
1——-"—*“‘“""“ :
X2 ik N J
0.5 0.5
» = - | + - I ” "% §
A5 -1 0501 05 Rt 5 -1 0§ 05 j: 15
0.5 ) -0.5
—1 -1
: 15
-1.5" ;
n 14
X,
15 X2 2 o \Ui%
e — T oS
¥, iL 2 v
0.5+ ) 0.5
-5 -1 -05 01 05 XT 1.5\ -15 «t =05 O] 05 1 15
~ .
l = -
-05 N 0.5 \
&_‘_//(
1 =y
' T, Y("X-: [“} = [‘ . j)‘j\
-8 (" ~1.5
0
% o oJd|£
15 - Tz 1.5-:-
| ™ kN
1‘&:‘ ..................... 4‘ y
y o0
i 0.5
08 (\
" =N
ds5 4 -05 0 05 ‘1 15 {5 -1 -05 05 ) 1 5
* -0.5
05" |
‘ _1.::
-14
~1.5- % -85
‘( U)”\

veflech avng
& s

MVW(’ .

[’Os;'\\'n- \r(c’l‘oh- (1, 0)
ijecl (1,0) owb W—\Lc.._q
awx¢ | ¢4 (0,0)

2(]

?m:‘t:."_ o 94 Axa's

A = [Tgwl] :. —rs(g;)]

159

votale by T radians
Counbncloc lennse
n (=0 LR
Af[°rq
I+ 0
RN
%)

8

- Y. — _
"o U = =X\ v XX, =0
% %,



y

1.5-

05-

anettan h\yS L‘mg, i

45 -1 -050;
-0.5

-1-

"vov{z-a‘k‘]'a.ﬁ SL\RU\-
writh s‘l’ij% 2

verhicd shean wabe
$ Ha -3

4 -05 ©

-0.5 -

F




&

15" S e
o 3 ;o
A oy ’T;l /y/ T; (wsalgiy\,e) rotakion (o) &af
Y “_ G55 a (t Q
N -15 -1 089 07 o5 1 45 ; n.
A5 4 w5 90 05 1 15 o5 X "9 J UDSO'
o5 “(1,9) °
A
15" o St®  LSE
\"'o“‘ak *’\a, GN{
‘ scale w{;oml%
_—3 8 o
P -rl’j ' / {r vo batkon dababon )
vk 5
)
v L ey e
By R AR §5 T Gs 9] o5 1 18
s 0.5 1
15
-4 |
ss -8

T R‘z - RL ({rneav. F(K‘zl ¥ Kzej) = X\T(Eﬂ +x T (?a %[T&'D“: T(é;.)‘} [‘\}
' X‘L

T [ <[ =)

T (%2 +x,8) = kl’z‘] b X, [‘{]

1 6

= AX

k=)

(02) ¢

2N

(‘-"!Q@ s

(-1,0) (o ) ('2,07
ﬁ; o

-5

(D"’ '\'l‘\

(x'é'l) 5.k x € =, %6 R |
(i oo el

{ Alxz,) ‘l H‘R’% iL {\ x,_eR}

x':.




(AR rg) = A r@ =51 [T o
(A(Zr18) = AT whg= 1]+ 5[]}

1.5

0.5-

15 -1 -05 O

~0.5-
1

~1.5 4

J ‘Pwétc‘*‘ GM{-\’ -H“L
vy / Wit 4%
0,5»5:
15 -1 05 0, 05 1 15
i X
0.5
15
159 ?w'yu)f onto line
1
i Hrw owgin al angle 6,

V o.sj wath uwmt divechin
Ml [u, - ‘vwse]

wy sing |



b

0.l KW

Tues Jan 30 ‘ ‘ . ?05+P0hﬂ— all ngwn.h
+ 1.9 the matrix of a linear transformation /v Nuc'k O

+ 2.1 Matrix operations, especially matr'irrLIﬁMn
Announcements:&/',ﬁbdﬁ L3 9,11, POS“I\?N '),'5,?3,27 vl u«[-@

0 dscnss Mot e and ‘l"_'('_? ! -l-volc?/.
funchae vomepts = X —Y
- ) d ewars, codomann
f is =1 vweang Mo 41u«h‘n~ {6=b xeX, beY
t') L\Ag at WWS‘\‘ ont Soluhion XeX,

H e LEVAN s (.
S kews . 3 $6)~46). Hem achually xe2
M@@f—?—ﬁa 7 e £ s mb Y tans ] ’ st )

frtade be Y M is (ad c@:sﬂ xé X
" NN (N J(-x\‘: b
l'f‘ Ti [R -—9"2% S a (‘2o ‘I'Tamsgﬂvv\c\-l.:n\) ﬁw—ghb\?
T = A% (A )
'Hsl.v\, T bewng =1 vw~eans /’\;(’?t L\qs a’l
hmost ot 50%"\1‘"""\. &= reed (A) has prodin
23 ch

(e o fren ?w»\dm)
O Hon T heing b wtans AR=T t\eag(a{' u:E:)a
s whins %
= ok b e R™
reef (A) Kas o 2o o,

re. o ?{WJ« nead~ Conr

¢ uokinee uwa(ms'{'awh
Yors !rma:L' )
e ot A



